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 Q1. Consider the following statements regarding Open Market Sales Scheme (OMSS). 

1. Food Corporation of India sells surplus stocks of wheat and rice under Open Market Sale 
Scheme (Domestic) at pre-determined prices through e-auction. 

2. As per the revised rules, single bidder can purchase 3000 MT (metric tonnes) in a single bid 
under OMSS. 

3. States are not allowed to procure foodgrains under OMSS.  
4. The aim of OMSS is to give more grains to states to meet the target of distributing 

foodgrains under National Food Security Act. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. Only three 
d. All four 

Solution: a 

Explanation: 

First statement is correct: 

Food Corporation of India sells surplus stocks of wheat and rice under Open Market Sale Scheme 
(Domestic) at pre-determined prices through e-auction in the open market from time to time to  

enhance the supply of food grains, especially wheat during the lean season and thereby moderate 
the open market prices specially in the deficit regions. Fourth is incorrect.  

Yes, states do take part in auction if they need more grains for NFSA. Usually, states are also 
allowed to procure food grains through the OMSS without participating in the auctions, for their 
needs beyond what they get from the central pool to distribute to NFSA beneficiaries. Third 
statement is incorrect. 

Recently, the Centre decided to restrict the quantity that a single bidder can purchase in a single bid 
under the OMSS. While the maximum quantity allowed earlier was 3,000 metric tonnes (MT) per 
bid for a buyer, it will now range from 10-100 metric tonnes (MT). Second statement is incorrect. 

Q2. As per the recent study, which of the following species sleep found to have active and quiet 
phases, similar to human sleep? 

a. Jellyfish 
b. Honey bee 
c. Octopus 
d. Ants 

Solution: c 

Explanation: 

News: 
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Q3. Consider the following statements. 

1. Almost 60% of all orchids found in India are epiphytic, which means they grow on other plants 
for mechanical support. 

2. The highest number of orchid species is recorded from Arunachal Pradesh. 
3. Orchids are listed under CITES (Convention on International Trade in Endangered Species of 

Wild Fauna and Flora). 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. All three 
d. None 

Solution: c 

Explanation: 

Orchids can be broadly categorised into three life forms: epiphytic (plants growing on another plants 
including those growing on rock boulders and often termed lithophyte), terrestrial (plants growing 
on land and climbers) and mycoheterotrophic (plants which derive nutrients from mycorrhizal fungi 
that are attached to the roots of a vascular plant).  

About 60% of all orchids found in the country, which is 757 species, are epiphytic, 447 are 
terrestrial and 43 are mycoheterotrophic. 

The highest number of orchid species is recorded from Arunachal Pradesh with 612 species, followed 
by Sikkim 560 species and West Bengal; Darjeeling Himalayas have also high species concentration, 
with 479 species. 

 

The entire orchid family is listed under appendix II of CITES (Convention on International Trade in 
Endangered Species of Wild Fauna and Flora) and hence any trade of wild orchid is banned globally. 

Q4. Research Innovation Initiative Gathering (RIIG) is an initiative of which of the following 
platform? 

a. G-20 
b. ASEAN 
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c. SCO 
d. UNFCCC 

Solution: a 

Explanation: 

The Research Innovation Initiative Gathering (RIIG) is a new initiative of G20 Forum. 

Q5. Consider the following statements regarding National Security Act in India? 

1. The National Security Act was promulgated during the Indira Gandhi government. 
2. Both Central and State Government has power under this Act to detain a person. 

Select the correct code. 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

 

 



QUIZ COMPILATIONS- JULY PART 1  

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 5 

Q6. Ladakh shares boundary with: 

1. Pakistan and China only 
2. Pakistan, Afghanistan and China 
3. Pakistan only 
4. Pakistan, Jammu and Kashmir, Afghanistan and China 

Solution: d 
Explanation: 

 

Q7. Separation of the Judiciary from the executive and Legislative is enjoined by: 

a. Preamble 
b. Directive Principle 
c. Seventh Schedule 
d. None of the above. 

Solution: d 

Explanation: 

Read carefully. Only Executive. 

Article 50 (DPSP) of the Indian constitution talks that the State shall take steps to separate the 
judiciary from the executive in the public services of the State. It is one of the liberal intellectual 
principles. 
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Q8. While a proclamation of emergency (article 352) is in operation in the country, the state 
government: 

a. Cannot Legislate 
b. Can legislate only on subjects in the Concurrent List 
c. Can legislate on the subject in the state list 
d. is suspended. 

Solution: c 

Explanation: 

After proclamation of the emergency under article 352 federal structure of the polity changes into 
unitary and centre can legislate on any matter of the state lists. These laws made on state subjects 
become inoperative after 6 months of the cease of emergency.  

It is to be noted that state legislatures are not suspended but rather normal distribution of legislative 
powers get suspended in emergency and become subject to overriding powers of the parliament. 
So, states can also make laws during the emergency. But it can be over-ride by Parliament. 

Q9. Which of the following aspects can lead to appreciation in the exchange rate of the Rupee? 

1. Increase in foreign tourists coming to India.  
2. Indian citizens investing abroad.  
3. A decrease in crude oil prices.  
4. Increase in exports by Indian pharmaceutical companies.  

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. Only three 
d. All four 

Solution: c 

Explanation:  

Increase in foreign tourists coming to India would increase the demand for Rupee. This would lead 
to an appreciation in the rupee value. So, Statement (1) is correct.  

Indian citizens investing abroad would demand foreign currency in exchange for Rupee. This would 
lead to the price of the foreign currency increasing relative to the rupee, leading to a depreciation 
in the value of the rupee. So, Statement (2) is not correct.  

A decrease in crude oil prices would reduce the import bill of India as India imports about 70 per 
cent of its crude requirements. This would reduce the demand for foreign currency, which in turn 
would lead to an increase in the value of the rupee. So, Statement (3) is correct.  
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Increase in exports by Indian pharmaceutical companies would bring foreign exchange in India. The 
price of foreign currency would reduce in terms of the rupee. This would lead to a depreciation in 
the value of the foreign currency and an appreciation in the value of the rupee. So, Statement (4) is 
correct.  

Therefore, the correct answer is (b). 

Q10. Nasik inscriptions describes the achievements of: 

a. Chandragupta-1 
b. Kanishka 
c. Gautamiputra Satakarni 
d. Pushyamitra Sunga 

Solution: c 

Explanation: 

Nasik inscriptions describes the achievements of GautamiputraSatakarni. 

Q11. With respect to Puga Valley, consider the following statements. 

1. Puga Valley is situated in the Changthang Valley in Ladakh. 
2. Puga valley is one of the major geothermal provinces in Himalayan belt region. 

Which of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

Puga Valley is situated in the Changthang Valley in the south-eastern part of Ladakh. 
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Puga valley is one of the major geothermal provinces in Himalayan belt region and represents one 
of the most extensive hot spring activities in India. It is situated at an altitude of about 4400 m 
above mean sea level with surrounding hills rising up to an altitude of about 6000 m.  

Puga valley is well known for its numerous hot springs with temperatures up to 84 °C (the boiling 
point of water at that altitude) and occurrences of sulfur and borax deposits. 

Geothermal map of India. 
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Q12. In the context of algae-based biofuel processes, consider the following statements. 

1. Catalytic hydrothermal liquefaction technology is used to convert algae biomass to oil. 
2. Under this process, water is used as solvent under high temperature and pressure to extract 

oil from the biomass. 
3. The benefits of this technology include direct utilisation of wet biomass without any need 

for drying and conversion of every organic fragment of biomass into oil. 

How many of the above statements is/are correct? 
a. Only one  
b. Only two  
c. All three 
d. None 

Solution: c 
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Explanation: 

Algae came to the limelight in the world’s fight against climate change about a decade ago for its 
vast benefits in industrial production. It can synthesise large volumes of oil (20 times more than that 
of mustard per acre), grow fast (10 times quicker than terrestrial plants) and capture carbon dioxide 
(CO2). 

But, as of today in 2022, have we really come up with any algae biofuel industry? 

India’s Reliance Industries Ltd recently has been successfully running large algae raceway ponds the 
last five years at their facility near Jamnagar, to convert sunshine, CO2 and seawater into bio-oil. 

It also displayed the utilisation of catalytic hydrothermal liquefaction technology to convert algae 
biomass to oil.  

Under this process, water is used as solvent under high temperature and pressure to extract oil 
from the biomass. 

The benefits of this technology include direct utilisation of wet biomass without any need for 
drying and conversion of every organic fragment of biomass into oil and without any wastage. 

Q13. With respect to the regulation of the State Emblem of India, consider the following statements. 

1. No person shall use the emblem for the purpose of any trade, business, calling or profession. 
2. As pe the Act, Parliament is only empowered to regulate the use of emblem. 
3. On 26.01.1950, the State Emblem was adopted as a symbol and seal of the newly formed 

Republic of India. 

How many of the above statements is/are correct? 
a. Only one 
b. Only two 
c. All three 
d. None 

Solution: b 

Explanation: 

About Emblem. 

First and third are correct statements. 

On 26.01.1950, the State Emblem was adopted as a symbol and seal of the newly formed Republic 
of India. The statute came into existence in 2005. It describes the State Emblem of Indian as an 
adaptation from the Sarnath Lion Capital of Ashoka which is preserved in the Sarnath Museum. 

 

Second statement is incorrect: 
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Q14. Which of the following places form border only with China, but not India? 

1. Bangladesh 
2. Myanmar 
3. Thailand 
4. Cambodia 

Select the correct code. 

a. 1 and 2 only 
b. 3 only 
c. 3 and 4 only 
d. None 

Solution: d 

Explanation: 

Thoda put stress on brain and try to recall map. If you will just see solution, nothing you can do in life. 
From today make it a habit to recall map, if you get map question. 

Bangladesh forms border only with India. 

Myanmar forms border with India and China both. 

Thailand and Cambodia forms border neither with China, nor with India. 
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Q15. In most of the accounts, Ashoka has been referred to as ‘Devanampiya Piyadassi’. In which 
place does the name ‘Ashok’ find its mention? 

a. Maski edicts, Karnataka 
b. Ujjain edicts, Madhya Pradesh 
c. Palkigundu edicts, Andhra Pradesh 
d. Nittur edicts, Karnataka 

Solution: a 

Explanations: 

The name ‘Ashok’ was discovered for the first time on a minor rock edict. In 1915, Maski in 
Karnataka, the name Ashoka was mentioned along with his title – Ashoka Devanampiya Piyadassi. 
(Devanampiya – dear to Gods; Piyadassi – Good looking). 

Otherwise in all other edicts only the title – ‘Devanampiya Piyadassi’ is mentioned. 

Q16. Consider the following statements. 

1. The nomination paper of a candidate for the Presidential election has to be subscribed by at 
least fifty electors as proposers. 

2. No President in India has been elected twice. 
3. The President shall vacate his office immediately after expiry of his term. 

How many of the above statements is/are correct? 
a. Only one 
b. Only two 
c. All three 
d. None 
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Solution: a 

Explanation: 

Under the Constitution of India, there shall always be a President of India (See Article 52 of the 
Constitution). He holds the highest elective office in the country and is elected in accordance with 
the provisions of the Constitution and the Presidential and vice-Presidential Elections Act, 1952. 
This Act you should know. UPSC has already asked Judges Inquiry Act, 1968. Be careful.  

As per the Presidential and vice-Presidential Election Act, 1952, the nomination paper of a 
candidate for the Presidential election has to be subscribed by at least fifty electors as proposers 
and at least fifty electors as seconders. 

 

The President shall hold office for a term of 5 years from the date on which he enters upon his 
office. He shall, however, continue to hold office notwithstanding the expiry of his term, until his 
successor enters upon his office. [Article 56 of the Constitution of India]. 

 

Dr Rajendra Prasad won the first two elections, in 1952 and 1957. 

Q17. Which of the following describes “Regenerative Agriculture”? 

1. reverse climate change by rebuilding soil organic matter 
2. No use of synthetic fertilizers and substances that disrupt the biological structuring of the 

farming system 
3. increase water percolation, water retention, and clean and safe water runoff 
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Select the correct code. 

a. 1 and 2 only 
b. 2 and 3 only 
c. 1 and 3 only 
d. 1, 2 and 3 

Solution: d 

Explanation: 

All statements are correct. You will read the link given below. Save it.  

“Regenerative Agriculture” describes farming and grazing practices that, among other benefits, 
reverse climate change by rebuilding soil organic matter and restoring degraded soil biodiversity – 
resulting in both carbon drawdown and improving the water cycle. 

 

Q18. Consider the following statements with reference to taxation. 

1. Higher direct taxes help in controlling Inflation in the economy 
2. Higher indirect taxes help in controlling the Inflation in the economy 

Which of the above statements is/are not correct? 
a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution b 

Explanation: 
Higher direct taxes will mean that the people will be left with smaller disposable incomes, lower 
disposable incomes do not generate higher demand. This causes the inflation to be controlled. 

Whereas higher indirect taxes will increase the prices of the commodities because the cost of 
production will increase. This will lead to Cost-push inflation. 

Q19. Consider the following statements: 

1. Narrative panels are key feature of Bharhut sculptures 
2. Queen Mayadevi’s dream is shown in one such narrative of Bharhut. 
3. Depiction of Ruru Jataka is the part of Sanchi stupa sculptures. 

Select the correct answer code: 
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a. 1 only 
b. 1 and 2 only 
c. 2 and 3 only 
d. 1, 2 and 3 

Solution: b 

Explanation: 
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Q20. Consider the following statements:

1. In tropical regions, Zika virus disease is transmitted by the same mosquito that transmits 
dengue. 

2. Sexual transmission of Zika virus disease is possible.

Which of the statements given above is/are correct?

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

Q21. In the context of India, consider the following statements.

1. Governor cannot be part of the cabinet system of governance.
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In tropical regions, Zika virus disease is transmitted by the same mosquito that transmits 



QUIZ COMPILATIONS- JULY PART 1  

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 17 

2. If Governor is member of either House of Parliament or of a House of the Legislature, he 
shall vacate his seat in that House on the date on which he enters upon his office as 
Governor. 

Which one of the following is correct inrespect of the above statements? 

a. Both Statement-I and Statement-II are correct and Statement-II is the correct explanation for 
Statement-I 

b. Both Statement-I and Statement-II are correct and Statement-II is NOT the correct 
explanation for Statement-I 

c. Statement-I is correct butStatement-II is incorrect 
d. Statement-I is incorrect butStatement-II is correct  

Solution: a 

Explanation: 

Article 158 assumes significance as a Governor is expected to not be a member of either the 
Parliament or a State Assembly. He is not a part of the cabinet system of governance. 

 

Q22. In respect to Industrial Park rating system (IPRS), consider the following statements. 

1. IPRS is an initiative by Department for Promotion of Industry and Internal Trade. 
2. IPRS 2.0 framework is designed bases on the international guidelines for the Industrial Park 

developed by United Nations Industrial Development Organization. 
3. It aims to enhance industrial competitiveness.  

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. All three 
d. None 

Solution: c 

Explanation: 

The Industrial Park Rating System (IPRS) is a major initiative by Department for Promotion of 
Industry and Internal Trade (DPIIT).  

Read from original document: 



QUIZ COMPILATIONS- JULY PART 1  

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 18 

 

 

 

Q23. Consider the following methods of plantation. 

1. determine the plant species native to a given area 
2. improve the soil by mixing in organic material 
3. Plant seedlings of native trees are planted densely. 

Such practice Of plantation can be seen in: 

a. Vertical farming method 
b. Miyawaki forestry method 
c. Dryland farming method 
d. Crop rotation 

Solution: a 
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Explanation: 

 

Q24. Consider the following statements regarding District Mineral Foundations in India. 

1. It shall be set up by Central Government in any district affected by mining related operation. 
2. Its major function is to authorize State Governments to issue licenses for mineral 

exploration. 
3. Gram Sabhas has been specified for identification of DMF beneficiaries. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. All three 
d. None 

Solution: a 

Explanation: 

DMF is a trust set up as a non-profit body under the Ministry of Mines through the Mines and 
Minerals (Development & Regulation) Amendment Act, (MMDRA) 2015. 

Now, coming back to our question: 

First and second statement is incorrect: 
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Third statement is correct: 

Gram Sabhas has been specified for deciding on projects, monitoring of work and identification of 
DMF beneficiaries. 

Q25. “LIFE SWiPE” Programme in Europe aims to: 

a. to reduce the number of wildlife crimes 
b. to stop drug trafficking 
c. to stop green house gas emissions from industries 
d. to regulate cryptocurrency 

Solution: a 

Explanation: 

The project "Successful wildlife crime prosecution in Europe" (LIFE SWiPE) aims to discourage, and 
ultimately reduce the number of wildlife crimes, through better enforcement of EU environmental 
regulations and more successfully prosecuted crimes, helping thus restoring the endangered 
European biological diversity and ecosystem health. 

 

Q26. With respect to United Nations Partnership on the Rights of Persons with Disabilities 
(UNPRPD), consider the following statements. 

1. It is a unique collaborative effort that brings together UN entities, governments, Disabled 
People’s Organizations (DPOs) and the broader civil society to advance disability rights 
around the world. 

2. UNPRPD supports coalition-building and capacity-development at country level to facilitate 
the full implementation of the Convention on the Rights of Persons with Disabilities (CRPD). 

3. International Labour Organization (ILO), the Office of the High Commissioner for Human 
Rights (OHCHR) are the UN entities participating in UNPRPD. 

Which of the above statements is/are correct? 

a. 1 and 2 only 
b. 2 and 3 only 
c. 1 and 3 only 
d. 1, 2 and 3 

Solution: d 

Explanation: 

So, all statements here are correct. 
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Q27. Which of the following rivers originate in China and flows through at least one other country? 

1. Brahmaputra 
2. Yellow River 
3. Mekong River 

Select the correct code. 

a. 1 only 
b. 2 and 3 only 
c. 1 and 2 only 
d. 1 and 3 only 

Solution: d 

Explanation:  

First is incorrect. 

The Yellow River is the sixth-longest river in the world and is also the most sediment-laden. 

Also known as Huang He, it originates in the province of Qinghai, flows through the Loess Plateau, 
where it takes sediment that gives its waters their characteristic yellow colour. It then flows across 
the flat North China Plain before draining into the Bohai Sea, a part of the Yellow Sea. 
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The Mekong River is the longest river in Southeast Asia. The river, flowing from its source on the 
Tibetan Plateau in China through Myanmar, Lao PDR, Thailand, Cambodia and Viet Nam. 
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Q28. Consider the following statements regarding National Green Tribunal. 

1. NGT was established during priministership of Rajiv Gandhi. 
2. The Chairperson has to a Judge of the Supreme Court of India or Chief Justice of a High 

Court. 
3. The Tribunal shall not be bound by the procedure laid down by the Code of Civil Procedure, 

1908 but shall be guided by the principles of natural justice. 
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4. Any person aggrieved by order of the Tribunal can file an appeal to the Supreme Court. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. All three 
d. All four 

Solution: c 

Explanation: 

Read this before proceeding to explanation: Purpose of setting up of NGT. 

 

First statement is wrong, as you can see it was established in 2010.  

Second statement is correct: 

 

Third statement is correct. 



QUIZ COMPILATIONS- JULY PART 1  

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 25 

 

Fourth statement is correct: 

 

Q29. As per the provisions mentioned in the Constitution, consider the following 
statements. 

1. An election to fill a vacancy caused by the expiration of the term of office of President shall 
be completed before the expiration of the term. 

2. The person elected to fill the vacancy of the President shall be entitled to hold office for the 
full term of five years from the date on which he enters upon his office. 

Select the correct code. 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

Q30. In the context of the cultural history of India, a mudra called “Katakamukha Hasta” has been a 
favourite of most of the classical dances. Which one of the following statements best describes it? 

a. The fingers are held in such a manner as if to ask ‘why’ 
b. Three fingers are joined to symbolize ‘Om’ 
c. The fingers are held straight and close together like the ‘stop sign’ 
d. All the fingers are held straight and together except the thumb finger 

Solution: b 
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Explanation: 

 

Katakaamukha means “Opening in a Bracelet”. Its done by bringing together the index finger, middle 
finger and thumb. The ring finger and the little finger are raised at angles. Katakaamukha is generally 
used to express the following 

a. Plucking or picking flowers 
b. Holding a necklace or a garland 
c. Pulling the bow string 
d. Talking and Seeing 
e. To show preparing a paste of sandal or musk 
f. Offering Beetle leaves 

Here, it best describes Three fingers are joined to symbolize ‘Om’. So, option (b) is correct. 

Q31. Consider the following statements. 

1. United Nations peacekeeping operations are deployed based on a mandate from the 
United Nations Security Council. 

2. The first Peace Keeping Mission was in the year 1948to monitor the agreement 
between Israel and its Arab neighbors. 

3. As per the report, India lost the greatest number of its nationals in Peace Keeping 
Missions. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. All three 
d. None 

Solution: c 

Explanation: 
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First statement is correct: 

 

Second statement is correct: 

 

Third statement is correct: 
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Q32. Consider the following statements regarding Indus Waters Treaty. 

1. The Indus Waters Treaty was signed during priministership of Jawahar Lal Nehru 
2. Permanent Indus Commission is chaired by World Bank. 
3. Court of Arbitration is appointed by the World Bank to resolve disputes arising 

between India and Pakistan under Treaty. 
4. The Treaty allocates the Western Rivers (Indus, Jhelum, Sutlej) to Pakistan and the 

Eastern Rivers (Ravi, Beas, Chenab) to India. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. Only three 
d. All four 

Solution: b 

Explanation: 

Second and fourth are incorrect: 

The Indus Waters Treaty was signed in 1960 after nine years of negotiations between India 
and Pakistan with the help of the World Bank, which is also a signatory. 
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The Treaty allocates the Western Rivers (Indus, Jhelum, Chenab) to Pakistan and the 
Eastern Rivers (Ravi, Beas, Sutlej) to India. At the same time, the Treaty allows each 
country certain uses on the rivers allocated to the other. 

Permanent Indus Commission is not chaired by World Bank. 

Both neutral expert and Court of Arbitration is set up by World Bank. 

Q33. Which of the following components are part of village industries under Gramodyog 
Vikas Yojana (GVY)? 

1. Wellness and Cosmetic industries 
2. Cement Industries 
3. Food processing industries 
4. Service Industry 

How many of the above pairs is/are correct? 

a. Only one 
b. Only two 
c. Only three 
d. All four 

Solution: c 

Explanation: 

News: 

 

 

Cement Industry is not part of this. 
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Q34. Consider the following pairs. 

Recent events/regions location 
1. phenomenon of the ‘Blood 

Falls’ on Taylor Glacier 
Antarctica 

2. Second Thomas Shoal Caribbean Sea 
 

Which of the above pairs is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 
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Solution: a 

Explanation: 

 

 

After more than a century of intrigue, scientists have discovered why Taylor Glacier in 
Antarctica bleeds 'crimson red' drool from its tongue. The reason for the iconic red hue was 
the presence of little 'iron-rich nanospheres'. 
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Q35. World Investment Report 2023 was recently published by: 

a. WTO 
b. UNCTAD 
c. World Economic Forum 
d. World Bank 

Solution: b 

Explanation: 

The United Nations Conference on Trade and Development (UNCTAD) recently released its 
World Investment Report 2023, providing valuable insights into foreign direct investment 
(FDI) trends in developing countries. 

Q36. Consider the following Nations. 

1. Turkmenistan 
2. Syria 
3. Pakistan 
4. Afghanistan 

Which of the above nations share boundaries with Iran? 

a. 2 and 3 only 
b. 1, 2 and 4 only 
c. 1, 3 and 4 only 
d. 4 only 

Solution: c 

Explanation: 
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There are seven countries that Iran shares this long land border with. These countries are Iraq, 
Turkmenistan, Afghanistan, Pakistan, Turkey, Armenia, and Azerbaijan. Of these countries, 
Turkmenistan shares the longest border with Iran. 

 

Q37. Consider the following statements. 

1. The Supreme Court should mandatorily report to President if President has asked for an 
opinion related to public importance. 

2. The Constitution has given power to Parliament to increase the number of judges of High 
Court. 

Which of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: d 

Explanation:  

It is not mandatory for Supreme Court to respond for such opinion. See article 143 below. The 
Constitution has given power to President to increase the number of judges of High Court. Refer 
article 216 below. 
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Q38. The western most Harappan site amongst the following is: 

a. Chanhudaro 
b. Kalibangan 
c. Mohenjo-Daro 
d. Harappa 

Solution: c 

Explanation: 

 

Q39. Consider the following statements regarding Treasury Bills. 

1. They are the short- term debt instruments issued by the Government of India. 
2. Interest rate is decided by the government only. 

Which of the above statements is/are correct? 
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a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: a 

Explanation: 

Treasury bills or T-bills, which are money market instruments, are short term debt instruments 
issued by the Government of India and are presently issued in three tenors, namely, 91-day, 182 
day and 364 days.  

Treasury bills are zero coupon securities and pay no interest. Instead, they are issued at a discount 
and redeemed at the face value at maturity. For example, a 91-day Treasury bill of ₹100/- (face 
value) may be issued at say ₹ 98.20, that is, at a discount of say, ₹1.80 and would be redeemed at 
the face value of ₹100/-. Interest rates are not used here. Therefore, second statement is wrong. 

Q40. Consider the following statements regarding Monetary Policy Committee. 

1. It is a statutory body under RBI Act, 1934. 
2. It determines the inflation target in terms of the Consumer Price Index, once in every five 

years. 
3. The decision of the Committee would be binding on the RBI. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. All three 
d. None 

Solution: b 

Explanation: 

First statement is correct. 

The Reserve Bank of India Act, 1934 (RBI Act) has been amended by the Finance Act, 2016, to 
provide for a statutory and institutionalized framework for a Monetary Policy Committee, for 
maintaining price stability, while keeping in mind the objective of growth. The Monetary Policy 
Committee would be entrusted with the task of fixing the benchmark policy rate (repo rate) required 
to contain inflation within the specified target level. 
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Under the Monetary Policy Framework Agreement, the RBI will be responsible for containing 
inflation targets at 4% (with a standard deviation of 2%) in the medium term (For more details see 
here). Under Section 45ZA (1) of the RBI Act, 1934,  

Second statement is incorrect. 

the Central Government determines the inflation target in terms of the Consumer Price Index, 
once in every five years in consultation with the RBI. See below: 

 

Third statement is correct. 

 

Q41. Consider the following statements. 

1. As per the Act, Director of Enforcement (ED) is appointed for three years from the date on 
which he assumes office. 

2. Central Government appoints ED on the recommendations of committee headed by Prime 
Minister. 

Which of the above statements is/are correct? 

a. 1 only 
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b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: d 

Explanation: 

News: 

 

See below: 

 

Q42. With respect to the global stocktake of the Paris Agreement (GST), consider the following 
statements. 

1. It is an annual process for taking stock of the implementation of the Paris Agreement. 
2. The Conference of the Parties shallundertake its first global stocktake in 2023. 
3. The GST is designed to complete its work before beginning of each new cycle of Nationally 

Determined Contribution so that they assess well before they submit next NDCs. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
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c. All three 
d. None 

Solution: b 

Explanation: 

When I clicked UNFCCC website, the entire page was filled with Global Stocktake: So I framed this 
question. 

 

The global stocktake of the Paris Agreement (GST) is a process for taking stock of the 
implementation of the Paris Agreement with the aim to assess the world’s collective progress 
towards achieving the purpose of the agreement and its long-term goals (Article 14). 
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Q43. Consider the following pairs. 

Climate initiatives Launched by/aims to 
1. Sustainable Fashion Communication 

Playbook 
  UNEP and UNFCCC 

2. new collective quantified goal (NCQG)  Sims to strengthen climate response by 
providing resources to developing countries. 

 

Which of the above pairs is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

Reason of first initiative is very obvious, so I asked only bodies. 

Second you should also know the aim.  
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Q44. Consider the following statements. 

1. Sustainable Development Goals are not legally binding on parties. 
2. To monitor progress on SDGs, Ministry of Statistics and Programme Implementation 

developed a National Indicator Framework (NIF). 
3. At present, there are more than 250 indicators in NIF. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. All three 
d. None 

Solution: c 

Explanation: 

The SDGs came into force with effect from 1st January, 2016. 

The SDGs are not legally binding, but have become de-facto international obligations and have 
potential to reorient domestic spending priorities of the countries up to 2030. 

National Indicator Framework for SDGs 

Monitoring plays a crucial role in the implementation and progress tracking of the SDGs. It involves 
the systematic compilation, analysis, and reporting of data and information to assess the 
advancements, challenges, and gaps in achieving the SDGs. 

Towards this endeavor, the Ministry of Statistics and Programme Implementation (MoSPI), 
Government of India developed a National Indicator Framework (NIF) in 2018 consisting of 306 
national indictors along with identified data sources and periodicity following due consultation 
process with concerned Ministries/ Departments, UN Agencies and other stakeholders.  
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Q45. With respect to Deputy Speaker, consider the following statements. 

1. As per the rules, the election of a Deputy Speaker shall be held on such date as the President 
may fix. 

2. Unlike Speaker, resolution is not passed in the House to remove Deputy Speaker from the 
office. 

Which of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: d 

Explanation: 
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This is important, and does not matter if you read Lakshmikant 50 times, this difference you can 
never find there and notice even after reading. If you are part of Test Series, you must solve this 
question. 

Second statement is also incorrect. 

 

Q46. Who appoints the Acting Chief Justice for the High Courts? 

a. CJI in consultation with President 
b. CJI in consultation with Governor 
c. CJI in consultation with High Court Judge 
d. President  

Solution: d 

Explanation: 
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News: 

 

Also see article: 

 

Q47. Which of the following states in India have both the Indian Standard Meridian as well as Tropic 
of Cancer passing through them? 

1. Madhya Pradesh 
2. Uttar Pradesh 
3. Bihar 
4. Chhattisgarh 

Select the correct answer using the code given below: 

a. 1 and 2 only 
b. 1 and 4 only 
c. 1 and 3 only 
d. 2 and 4 only 

Solution: b 

Explanation: 

The Indian Standard Meridian passes through 5 states of Uttar Pradesh, Madhya Pradesh, 
Chhattisgarh, Odisha and Andhra Pradesh. 

The Tropic of Cancer passes through 8 states of Madhya Pradesh, Gujarat, Rajasthan, Chhattisgarh, 
Jharkhand, West Bengal, Tripura and Mizoram. 

Thus, from Madhya Pradesh and Chhattisgarh the Indian Standard Meridian, as well as Tropic of 
Cancer, passes. 
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Therefore, the correct answer is (b). 

Q48. Which of the following correctly defines Bioprospecting? 

a. Use of modern technologies for in-situ and ex-situ conservation of wildlife 
b. process used to treat contaminated media, including water, soil and subsurface material, by 

altering environmental conditions to stimulate growth of microorganisms and degrade the 
target pollutants 

c. systematic and organized search for useful products derived from bioresources including 
plants, microorganisms, animals, etc., that can be developed further for commercialization 
and overall benefits of the society. 

d. Majorly used in Oceans, to develop an interlink between biotic and abiotic resources and 
develop a chain between them and use it as a criterion for protecting biodiversity 

Solution: c 

Explanation: 
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Q49. Consider the following statements regarding World Trade Organization (WTO). 

1. In the WTO, power is not delegated to a board of directors or the organization’s head. 
2. WHO rules are enforced by the members themselves under agreed procedures that they 

negotiated including the possibility of trade sanctions. 

Which of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

Very important. Please read dhyan se. 

 

Q50. Which of the following can potentially lead to a higher credit growth in the Indian banking 
sector? 

1. Reduction in the Capital Adequacy Ratio by the Reserve Bank of India (RBI). 
2. Cut in the Repo Rate by the RBI. 
3. Increase in interest rates offered by small savings schemes. 
4. Improvement in macroeconomic indicators of the economy. 

Select the correct answer using the code given below: 

a. 1, 2 and 4 only 
b. 2 and 4 only 
c. 1 and 3 only 
d. 1, 2, 3 and 4        
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Solution: a 

Explanation: 

The term bank credit refers to the amount of credit available to a business or individual from a 
banking institution in the form of loans. Higher credit growth in the Indian banking sector means 
banks have higher deposits which they can lend.  

First statement is correct. 

Reduction in the Capital Adequacy Ratio by the Reserve Bank of India (RBI) - capital adequacy ratio 
(CAR) is a measurement of a bank's available capital expressed as a percentage of a bank's risk-
weighted credit exposures. So, its reduction will increase the capital available with the bank to lend 
thus it will increase the credit growth of the bank.  

Second statement is correct: 

Cut in the Repo Rate by the RBI – decreased lending rate by RBI to banks will increase the borrowing 
of banks and in turn, increase the lending capacity of banks to the businesses (credit growth) 

Third statement is incorrect. 

Increase in interest rates offered by small savings schemes – It will attract public to withdraw their 
money from bank deposits to these small saving schemes because of relatively high interest rates. 
So, the credit growth of banks will decrease. 

Fourth statement is correct. 

Improvement in macroeconomic indicators of the economy- It will strengthen the overall economy 
and ultimately banking sector. For e.g., Increased GDP will increase the purchasing power of the 
public thus increase in deposits in bank. 

Q51. In reference to Senior Citizens’ Welfare Fund (SCWF), consider the following statements. 

1. A fund has been established under the Finance Act, 2015for the promotion of the welfare of 
senior citizens. 

2. As per the Act, all the unclaimed amounts under insurance companies for more than 10 
years are transferred to SCWF. 

Which of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

Read both images. 
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Unclaimed amount for a period more than 10 years to be transferred to Senior Citizens Welfare 
Fund. 

 

Q52. The Higher Education Sustainability Initiative (HESI) is a partnership between: 

a. ASEAN nations 
b. United Nation Entities 
c. European Union countries 
d. SCO nations 

Solution: b 

Explanation: 

News: 

2023 HESI Global Forum is going to take place in July.  
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Q53. In reference to United Nations High-level Political Forum on Sustainable Development (HLPF), 
consider the following statements. 

1. It was established by United Nations Conference on Sustainable Development (Rio+20). 
2. The HLPF is the central United Nations platform for the review of the 2030 Agenda for 

Sustainable Development Goals (SDGs) at the global level. 

Which of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

 

Q54. Consider the following statements regarding Nirbhaya Fund. 

1. It is a non-lapsable corpus fund that is administered by the Ministry of Finance’s Department 
of Economic affairs. 

2. The Ministry of Home Affairs is the nodal ministry to recommend the proposals that can be 
funded under the Nirbhaya Fund. 
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Which of the above statement is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: a 

Explanation: 

Nirbhaya Fund was constituted by the Government of India, as a corpus fund to support initiatives 
and measures taken to ensure the safety of women. This was created in conjuncture with the 
Criminal Law (Amendment) Act, 2013, commonly known as the Nirbhaya Act.  

First statement is correct. 

The Ministry of Finance has issued guidelines on 25 March 2015, regarding the framework of the 
Nirbhaya Fund. It is a non-lapsable corpus fund that is administered by the Ministry of Finance’s 
Department of Economic affairs.  

Second statement is incorrect. 

The Ministry of Women & Child Development is the nodal ministry to appraise the proposals of the 
recommended schemes that can be funded under the Nirbhaya Fund. 
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Q55. With reference to Stockholm conference of 1972, consider the following statements. 

1. India set up its ministry of environment and forest after this Conference. 
2. The conference gave birth to the United Nations Environment Program (UNEP). 
3. Important Conventions, Convention on International Trade in Endangered Species of Wild 

Fauna and Flora (CITES) and the Convention on Migratory Species came into force after this 
Conference. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. All three 
d. None 

Solution: c 

Explanation: 

First statement is correct. 

After the Stockholm Conference, the National Council for Environmental Policy and Planning was set 
up in 1972 within the Department of Science and Technology to establish a regulatory body to look 
after the environment-related issues. This Council later evolved into a full-fledged Ministry of 
Environment and Forests (MoEF). 

MoEF was established in 1985, which today is the apex administrative body in the country for 
regulating and ensuring environmental protection and lays down the legal and regulatory framework 
for the same. 

Second statement is correct. 

The three dimensions of this conference were: Countries agreeing not to “harm each other’s 
environment or the areas beyond national jurisdiction”; an action plan to study the threat to Earth’s 
environment; and establishment of an international body called the UN Environment programme 
(UNEP) to bring in cooperation among countries. 
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Third statement is correct: 

Since that conference fifty years ago, there have been many environmental victories, a primary one 
being the development of international environmental laws. These include the International 
Convention for the Prevention of Marine Pollution from Ships (MARPOL) in 1973 to the Convention 
on International Trade in Endangered Species of Wild Fauna and Flora (CITES) in 1975, and the 
Convention on Migratory Species in 1983, and the Rio Conventions (climate, biodiversity, 
desertification) in 1992 and the 2013 Minamata Convention on Mercury. 

Q56. Consider the following. 

1. Djibouti 
2. Yemen 
3. Qatar 
4. Bahrain 

Arrange the above nations from North to South 

a. 3-4-1-2 
b. 4-3-1-2 
c. 4-3-2-1 
d. 3-4-2-1 

Solution: c 

Bahrain-Qatar-Yemen-Djibouti 

 

Q57. Consider the following statements. 

1. As per the Constitution, advice tendered by Ministers to the President shall not be 
inquired into in any court. 

2. As per the Constitution, the Prime Minister shall be appointed by the President elected 
unanimously by Council of Ministers. 
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Which of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: a 

Explanation: 

First statement is correct. 

 

Second statement is incorrect: Elected unanimously part is not mentioned. 

 

Q58. Consider the following statements: 

1. An amendment to the Constitution of India can be initiated by an introduction of a bill in the 
Lok Sabha only. 

2. If such an amendment seeks to make changes in the federal character of the Constitution, 
the amendment also requires to be ratified by the legislature of one-third of the States of 
India. 

 Which of the statements given above is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: d 

Explanation:  

An amendment of the Constitution can be initiated by introduction of a bill in either house of the 
Parliament. 
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If the bill seeks to amends the Federal provisions of the Constitution, it must also be ratified by the 
legislatures of half of the states by a simple majority. 

 

Q59. Arrange the following in increasing order of their pH value. 

1. Lemon Juice 
2. Blood 
3. Cow’s milk 
4. Sea Water 

Select the correct code. 

a. 4-1-2-3 
b. 1-4-2-3 
c. 1-3-2-4 
d. 4-2-3-1 

Solution: c 

Explanation: 

Prior to the Industrial Revolution of the 18th to 19th centuries, the ocean’s average pH was about 
8.2. Today, the ocean’s average pH is 8.1. This means that the ocean today is about 30 per cent more 
acidic then in pre-industrial times. By 2100, the pH of the ocean could decrease to about 7.8, making 
the ocean 150 percent more acidic and affecting half of all marine life, according to the 
Intergovernmental Panel on Climate Change (IPCC) Sixth Assessment Report. 
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Q60. Samyakdarshana, Samyakjnana, Samyakcharita" are doctrines related to which religion? 

a. Hinduism 
b. Buddhism 
c. Sikhism 
d.  Jainism 

Solution: d 

Explanation: 
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Q61. Consider the following statements regarding National Research Foundation (NRF), recently 
proposed under National Research Foundation Bill, 2023. 

1. National Education Policy recommend for the establishment of NRF. 
2. Prime Minister will be the ex-officio President of the Governing Board of NRF. 
3. Once established, it will repeal the Science and Engineering Research Board (SERB) 

established by an act of Parliament. 

How many of the above statements is/are correct? 

a. Only one 
b. Only two 
c. All three 
d. None 

Solution: c 

Explanation: 



QUIZ COMPILATIONS- JULY PART 1  

WWW.GOALTIDEIAS.COM, INFO@GOALTIDEIAS.COM, +91 8512889220 56 

Mostly this bill will be passed. So, we will wait for the Parliament procedures. Till then remember 
these explanations. No need to go beyond this.  

 

The Union Cabinet, chaired by the Prime Minister Shri Narendra Modi, approved the introduction of 
the National Research Foundation (NRF) Bill, 2023 in the Parliament.  The approved Bill will pave 
the way to establish NRF that will seed, grow and promote Research and Development (R&D) and 
foster a culture of research and innovation throughout India’s universities, colleges, research 
institutions, and R&D laboratories. 

The bill, after approval in the Parliament, will establish NRF, an apex body to provide high-level 
strategic direction of scientific research in the country as per recommendations of the National 
Education Policy (NEP), at a total estimated cost of Rs. 50,000 crores during five years (2023-28). 

 

The Department of Science and Technology (DST) will be the administrative Department of NRF 
which will be governed by a Governing Board consisting of - the Prime Minister will be the ex-
officio President of the Board and the Union Minister of Science & Technology & Union Minister of 
Education will be the ex-officio Vice-Presidents. 

The bill will also repeal the Science and Engineering Research Board (SERB) established by an act 
of Parliament in 2008 and subsume it into NRF which has an expanded mandate and covers 
activities over and above the activities of SERB. 

Q62. Which of the following agreement/Treaty is/are signed under United Nations Convention on 
the Law of the Sea (UNCLOS)? 

1. 1994 Treaty establishing International Seabed Authority 
2. Fish Stock Agreement, 1995 
3. Marine Biodiversity of Areas Beyond National Jurisdiction (BBNJ) Treaty 

How many of the above agreements is/are correct? 

a. Only one 
b. Only two 
c. All three 
d. None 

Solution: c 

Explanation: 

Just first paragraph of the Hindu, I have framed this question.  
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Every week I am teaching students, how to read Prelims from newspaper, be part of this course as 
soon as possible. Every single day counts. 

Q63. Consider the following statements. 

1. Gravity hole is a region on Earth where the gravitational pull is significantly weaker 
compared to the surrounding areas. 

2. Indian Ocean Geoid Low (IOGL)- in Indian ocean is one such Gravity hole. 

Which of the above statements is/are correct? 

a. 1 ONLY 
b. 2 ONLY 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

News: 

 

Gravity Hole is a region on Earth where the gravitational pull is significantly weaker compared to 
the surrounding areas -sea level may be lower than average due to the weaker gravitational force 
acting upon the water. 

Indian Ocean Geoid Low (IOGL)- in Indian ocean is one such Gravity hole. 

The gravity hole is not actually a perfect sphere, as Earth's gravitational field is not uniform due to 
variations in density and mass distribution. 

The distribution of mass within Earth is not homogeneous, with denser regions in some areas and 
less dense regions in others. These variations in density and mass create differences in 
gravitational attraction, leading to the formation of the geoid. 

The irregularity in the gravitational field causes anomalies, resulting in differences in the strength of 
gravity at different locations on the Earth's surface, which influences the Earth's shape. The shape is 
also affected by the planet's rotation, gravitational forces, and internal structure. 
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Q64. Consider the following pairs. 

Recent events region 
1. recently declared a state of 

national emergency in response 
to a significant increase in 
Guillain-Barré syndrome (GBS) 
cases. 

   Kenya 

2. First ever IIT campus to be set 
up outside India 

  Zanzibar, Tanzania 

 

Which of the above pairs is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: b 

Explanation: 

Peru has recently declared a state of national emergency in response to a significant increase in 
Guillain-Barré syndrome (GBS) cases. 

The Memorandum of Understanding (MoU) for setting up of campus of IIT Madras in Zanzibar- 
Tanzania was signed today between India, IIT Madras and Zanzibar- Tanzania. This is the first ever 
IIT campus to be set up outside India. 
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Q65. Consider the following statements. 

1. Under the Act, Forest Rights Committee will be set by state government to initiate the 
process of determining the nature and extent of forest rights. 

2. While land and access rights of forest-dwelling communities in terrestrial protected areas 
are legally protected under the Forest Rights Act of 2006, no equivalent statute exists to 
safeguard the rights of fishing communities. 

3. Under the Act, there is no need of providing any evidence for recognition and vesting of 
forest rights such as public documents, Government records. 

Which of the above statements is/are correct? 

a. 1 and 3 only 
b. 2 and 3 only 
c. 2 only 
d. 1 and 2 only 

Solution: c 

Explanation: 

First is incorrect. 

Forest Rights Committee” means a committee constituted by the Gram Sabha. 
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Second is correct. 

While land and access rights of forest-dwelling communities in terrestrial protected areas are legally 
protected under the Forest Rights Act of 2006, no equivalent statute exists to safeguard the rights of 
fishing communities. 

Third is incorrect. 
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Q66.Which of the following state has northernmost tip? 

a. Manipur 
b. Tripura 
c. Meghalaya 
d. Nagaland 

Solution: D 

Explanation: 

 

Q67. Which of the following measures can help in tackling rupee appreciation? 

1. Purchase of Government securities from the public by the Central Bank. 
2. Lowering interest rates in commercial banks. 
3. Buying of foreign currency by the Central Bank. 
4. Sale of government securities to the public by the Central Bank. 

Select the correct answer using the code given below: 

a. 1 and 3 only 
b. 1, 2 and 3 only 
c. 2 and 3 only 
d. 2, 3 and 4 only 

Solution: b 

Explanation: 

Currency appreciation is an increase in the value of one currency in relation to another currency. A 
strong currency makes imports cheaper and can improve living standards. However, it can also make 
exports less competitive and lead to lower economic growth. So, to stabilise the currency, various 
measures are adopted to increase the quantum of domestic currency and reduce the volume of 
foreign currency. Statements (1), (2) and (3) lead to an infusion of domestic currency among the 
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public and reduces the foreign currency in the market; thus, it helps in tackling rupee appreciation 
(a feature of managed floating currency). However, the sale of Government securities to the public 
reduces the amount of currency held by the public. So, it cannot tackle rupee appreciation. So, 
statement (4) is incorrect. Hence, option b is the correct answer. 

Q68. Consider the following statements: 

1. If a sitting member of one House of the Parliament is elected to the other House also, his 
seat in the first House becomes vacant. 

2. If a disqualified person is elected to the Parliament, the Constitution lays down no procedure 
to declare the election void. 

Which of the statements given above is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

Double Membership: A person cannot be a member of both Houses of the Parliament at the same 
time. Thus, the Representation of People Act (1951) provides for the following: 

a. If a person is elected to both the Houses of Parliament, he must intimate within 10 days in 
which House he desires to serve. In default of such intimation, his seat in the Rajya Sabha 
becomes vacant. 

b. If a sitting member of one House is elected to the other House also, his seat in the first 
House becomes vacant. 

 
If a disqualified person is elected to the Parliament, the Constitution lays down no procedure to 
declare the election void.  

This matter is dealt with by the Representation of the People Act (1951), which enables the High 
Court to declare an election void if a disqualified candidate is elected. The aggrieved party can 
appeal to the Supreme Court against the order of the High Court in this regard. So, statement 2 is 
correct. 

Therefore, the correct answer is (c). 

Q69. Consider the following statements. 

1. Constitution has provided protection from removal to Chief Election Commissioner and 
Election Commissioner. 

2. Election Commission and State Election Commission is responsible for conducting elections 
for Parliament and State legislature respectively. 

Select The correct code. 
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a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: d 

Explanation: 

First statement is incorrect. 

The Constitution provides protection from removal only to Chief Election Commission. Election 
Commission can be removed on mere recommendation of CEC. 

 

Second statement too is incorrect. 

Both Parliament and State Election under control of CEC. Stat Election Commission role is in 
election of Panchayats and Municipalities. 

Q70. The image represents the Buddha with two Boddhisattva attendants. The Buddha is seated in 
padmasana (cross-folded legs) and the right hand is in the abhayamudra, raised a little above the 
shoulder level whereas the left hand is placed on the left thigh. The ushanisha, i.e., hair knot, is 
shown with a vertically raised projection. The image is found in: 

a. Sarnath 
b. Mathura 
c. Gaya 
d. Kushinagar 

Solution: b 

Explanation: 
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Q71. UN Coalition on Combating Sand and Dust Storms was launched by: 

a. UNFCCC Secretariat 
b. United Nations Convention to Combat Desertification (UNCCD) 
c. UNEP Secretariat 
d. Food and Agricultural organization 

Solution: b 

Explanation: 

Read below: 

 

 

Q72. With respect to Lambani embroidery, consider the following statements. 

1. Lambani craft tradition involves skilfully stitching together small pieces of discarded 
fabric to create a beautiful fabric. 

2. Lambani embroidery is majorly practiced in several villages of Gujarat and Rajasthan.  

Which of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: a 

Explanation: 

News: 
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Lambani embroidery is a vibrant and intricate form of textile embellishment characterized 
by colourful threads, mirror work, and a rich array of stitch patterns.   

It is practised in several villages of Karnataka such as Sandur, Keri Tanda, Kadirampur, 
Sitaram Tanda, Bijapur, and Kamalapur. 

The sustainable practice of patchworking is found in many textile traditions of India and 
around the world. Lambani craft tradition involves skilfully stitching together small pieces 
of discarded fabric to create a beautiful fabric. 

Q73. With respect to Global Alliance for Vaccines and Immunization (GAVI), consider the 
following statements. 

1. It is led by World Economic Forum along with World Health Organization. 
2. GAVI plays a critical role in strengthening primary health care and bringing us closer to the 

Sustainable Development Goal (SDG) of Universal Health Coverage (UHC), ensuring that no 
one is left behind. 

3. India is GAVI participating country. 

Which of the above statements is/are correct? 

a. 1 and 2 only 
b. 2 and 3 only 
c. 1 and 3 only 
d. 1, 2 and 3 

Solution: b 

Explanation: 

First statement is incorrect. 
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First read history, how it came into existence.

 

Created in 2000, Gavi is an international Organisation – a global Vaccine Alliance, bringing 
together public and private sectors with the shared goal of saving lives and protecting 
people’s health by increasing equitable and sustainable use of vaccines. 

More important points from website: 

a. Gavi’s impact draws on the strengths of its core partners, the World Health 
Organization, UNICEF, the World Bank and the Bill & Melinda Gates Foundation, and 
plays a critical role in strengthening primary health care (PHC), bringing us closer to the 
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Sustainable Development Goal (SDG) of Universal Health Coverage (UHC), ensuring 
that no one is left behind. 

 

b. Gavi also works with donors, including sovereign governments, private sector 
foundations and corporate partners; NGOs, advocacy groups, professional and 
community associations, faith-based organisations and academia; vaccine 
manufacturers, including those in emerging markets; research and technical health 
institutes; and implementing country governments. 

 

India is Gavi-eligible country.  

Q74. Consider the following statements. 

1. The majority of reef building corals are found within tropical and subtropical waters. 
2. Algal bloom on coral ridges is a sign of good coral health. 
3. Corals can reproduce asexually and sexually. 
4. Pacific Ocean has a greater number of coral species than Antarctic Ocean. 

Which of the above statements is/are correct? 

a. 1 and 2 only 
b. 2, 3 and 4 only 
c. 1, 3 and 4 only 
d. 1, 2, 3 and 4 

Solution: c 
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Explanation: 

First statement is correct. 

Reef-building corals are restricted in their geographic distribution by factors such as the 
temperature and the salinity (salt content) of the water. The water must also be clear to 
permit high light penetration. 

Because of these environmental restrictions, reefs generally are confined to tropical and 
semitropical waters. The diversity of reef corals (the number of species), decreases in 
higher latitudes up to about 30° north and south, beyond which reef corals are usually not 
found.

 

Second statement is incorrect. 

The analysis found that since 2010, the number of algae on the world's coral reefs has 
increased by about 20 per cent. Algal bloom on coral ridges are a sign of stress on the 
structures. This transition from live hard coral to algae-dominated reef communities 
impacts marine habitats, rendering them less biodiverse and also affects the ecosystem 
services provided by them. 

Third statement is correct. 

Corals can reproduce asexually and sexually. In asexual reproduction, new clonal polyps 
bud off from parent polyps to expand or begin new colonies. This occurs when the parent 
polyp reaches a certain size and divides. This process continues throughout the animal’s life. 

Fourth statement is correct: 

Generally, there are about twice as many coral species in Pacific Ocean reefs as in Atlantic 
Ocean reefs. 
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Q75. Consider the following statements. 

1. The Constitution provides provision for the disqualification of the members of Rajya Sabha. 
2. If a candidate is elected from both of the Houses of Parliament and state legislature and if he 

doesn’t resign from one of the seats within prescribed time, then seat in Parliament will 
become vacant. 

Which of the above statements is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: c 

Explanation: 

Those who have started preparing now, please follow us regularly. These questions will give 
you lot of understanding and confidence in Polity subject. Ok, coming back to question. 

First Statement is correct. Article 102. 

 

Second statement is also correct. We will see Article 101 along with section 70 of the RPA, 
1951. 
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Q76. As per the Constitution, ‘Unsound mind’ is one the way for the disqualification from 
membership of which of the following? 

1. Member of Legislative Council. 
2. Finance Commission 
3. Member of Parliament 
4. A Judge of the Supreme Court 

How many of the above bodies is/are correct? 

a. Only one 
b. Only two 
c. Only three 
d. All four 

Solution: b 

Explanation: 

 

 

Finance Commission:  

The term ‘unsound mind’ is mentioned not in Constitution, but Finance Commission 
(Miscellaneous Provisions) Act, 1951. 

 

For SC judge, the criteria is not “unsound mind”. 
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Q77. Nanotechnology provides new agrochemical agents and new delivery mechanisms to 
improve crop productivity, and it promises to reduce pesticide applications. Nanotechnology 
can increase agricultural production, and its applications include: 

1. nano formulations of agrochemicals for applying pesticides and fertilizers for crop 
improvement 

2. the application of nano sensors in crop protection for the identification of diseases and 
residues of agrochemicals 

3. nanodevices for the genetic engineering of plants 
4. plant disease diagnostics 
5. animal health, animal breeding, poultry production 

Select the correct code. 

a. 1, 2 and 3 only 
b. 2, 3, 4 and 5 only 
c. 1, 3, 4 and 5 only 
d. 1, 2, 3, 4 and 5 

Solution: d 

Explanation: 

Nanotechnology in agriculture has gained good momentum in the last decade with an 
abundance of public funding, but the stage of development is good, even though many 
methods became under the umbrella of agriculture. This might be attributed to a unique 
nature of farm production, which functions as an open system whereby energy and matter 
are exchanged freely.  

Nanotechnology provides new agrochemical agents and new delivery mechanisms to 
improve crop productivity, and it promises to reduce pesticide applications. Nanotechnology 
can increase agricultural production, and its applications include: (1) nano formulations of 
agrochemicals for applying pesticides and fertilizers for crop improvement; (2) the 
application of nano sensors in crop protection for the identification of diseases and 
residues of agrochemicals; (3) nanodevices for the genetic engineering of plants; (4) plant 
disease diagnostics; (5) animal health, animal breeding, poultry production; and (6) 
postharvest management.  

Q78. According to the Wildlife (Protection) Act, 1972, currently, which of the following 
animals cannot be hunted by any person except under some provisions provided by law? 

1. Ganges river dolphins 
2. Tiger 
3. Great Indian Bustard 
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Select the correct answer using the code given below: 

a. 1 only 
b. 2 and 3 only 
c. 1 and 3 only 
d. 1, 2 and 3  

Solution: d 

Explanation: 

Under WPA, 1972, it is mentioned: 

 

Now, from above given three examples, it is very much clear, three species do not belong 
to Schedule 5 (where you can hunt animals, so all are correct). 

There are six schedules under the Wildlife Protection Act, 1972.You should have basic idea 
of such schedules. 

Q79. Consider the following countries. 

1. Malawi  
2. Zimbabwe 
3. Mozambique 
4. South Sudan 
5. Niger 

How many of the above countries are land-locked? 

a. Only two 
b. Only three 
c. Only four 
d. All five 

Solution: c 

Explanation: 
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Q80. Vaibhashika and Sautrantika belongs to which sect? 

a. Jainism 
b. Buddhism 
c. Vaishnavism 
d. Shaivism 

Solution: b 

Explanation: 

Hinayana was later divided into two sects i.e., Vaibhashika and Sautrantika.  
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Q81. Which of the following countries does Tropic of Capricorn doesn’t pass? 

a. Australia 
b. New Zealand 
c. Madagascar 
d. Chile 

Solution: b 

Explanation: 

 

 

Q82. Which of the following is very near to Tropic of Cancer? 

a. Andaman Sea 
b. Gulf of Khambhat 
c. Gulf of Kachchh 
d. Gulf of Aden 

Solution: c 

Explanation: 
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Q83. Sea of Japan (East Sea) is located in: 

a. South of Korea Peninsula 
b. East of Korean Peninsula 
c. South of Japan 
d. East of Japan 

Solution: b 

Explanation: 
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Q84. A horizontal line to Black Sea (at any point) will never cross: 

a. Adriatic Sea 
b. Aegean Sea 
c. Caspian Sea 
d. Mediterranean Sea 

Solution: b 

Explanation: 
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Q85. Consider the following countries. 

1. Malawi  
2. Zimbabwe 
3. Mozambique 
4. South Sudan 
5. Niger 

Which of the above countries are land-locked? 

a. 1, 4 and 5 only 
b. 2, 4 and 5 only 
c. 1, 2, 4 and 5 only 
d. 1, 2, 3 and 4 only 

Solution: c 

Explanation: 
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Q86. Consider following statements related to geography of India: 

1. Except China, all countries with which India shares land border are member of SAARC. 
2. India shares land boundary with 6 countries. 

Which of the statements given above is/are correct? 

a. 1 only 
b. 2 only 
c. Both 1 and 2 
d. Neither 1 nor 2 

Solution: d 

Explanation: 

SAARC has eight member countries: Afghanistan, Bangladesh, Bhutan, India, Maldives, Nepal, 
Pakistan and Sri Lanka. Myanmar with which India shares 1643 KM of land boundary is not a 
member of SAARC. 
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India shares the largest land boundary with Bangladesh (4096.7 KM), followed by China (3488 KM) 
and Pakistan (3323 KM). 

India shares its border with seven countries- Afghanistan and Pakistan to the North-West, China, 
Bhutan and Nepal to the north, Myanmar to the far East and Bangladesh to the east. 

 

Q87. Identify the correct sequence, when one is travelling from North to South? 

a. Palk Strait-Adam’s Bridge-Gulf of Mannar-Palk Bay 
b. Palk Strait-Palk Bay-Adam’s Bridge-Gulf of Mannar 
c. Gulf of Mannar-Adam’s Bridge-Palk bay-Palk Strait 
d. Adam’s Bridge-Palk Strait—Palk Bay-Gulf of Mannar 

Solution: b 

Explanation: 
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Q88. A horizontal line drawn across Delhi will cross which of the following states? 

1. Punjab 
2. Haryana 
3. Uttar Pradesh 
4. Bihar 
5. Arunachal Pradesh 

Select the correct code. 

a. 1, 2, 3, 4 only 
b. 2, 3, 4 and 5 only 
c. 1 and 3 only 
d. 2, 3, and 5 only 

Solution: d 

Explanation: 
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Q89. Which one of the following pairs of islands is separated from each other by the ‘Ten Degree 
Channel’? 

a. Andaman and Nicobar 
b. Nicobar and Sumatra 
c. Maldives and Lakshadweep 
d. Sumatra and Java 

Solution: a 

Explanation: 

The Ten Degree Channel is a channel that separates the Andaman Islands and Nicobar Islands from 
each other in the Bay of Bengal. 
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Q90. If one need to go from India to Kazakhstan, what is the minimum number of country/countries 
one can cross between two, provided no movement restrictions in any country? 

a. 1 
b. 2 
c. 3 
d. 4 

Solution: a 

Explanation: 

India-China-Kazakhstan 
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